Ev 9 DEBDILR

Pick’s theorem computes the area of a polygon on the square lattice by the interior and boundary
points. We came up with a new formula similar to this which is applicable to equilateral triangle and
hexagonal lattices. In the case of equilateral triangle, we found the equation using mathematical
induction. In the case of hexagonal lattices, we worked out a formula using the new idea of boundary
characteristic (the edges that extends locally into the exterior of the polygon — the edges that extends
locally into the interior of the polygon) and it proved to be accurate. The idea is also true for square

and equilateral triangle. In this way, we were able to expand Pick’s theorem.
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THE HOENYCOMB CONJECTURE Thomas C,HALES
http://math.artet.net/?eid=1161087
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